
Activity 3 - Homophones 

Each sentence contains at least two homophones.  Can you 

correctly fill in the gaps? 

Look over THERE, it is Gemma and Harold and THEY’RE 

carrying THEIR new puppy. 

The number   seed    the tennis tournament. 

Johnny was not     to speak    during the class as 

it distracted other pupils. 

Harry and Henry were playing a     game, but it was 

not exciting and they became   .  

The thief was    stealing from the supermarket and ended 

up in    in front of the judge. 

The driver failed to    a suitable parking space and just 

parked on the road where a traffic warden gave him a ticket and 

he was     £50. 

Mrs Doodabs was walking down the street when her    

broke on her shoe.  She fell and cut her knee which took a while to

    . 

The ___________  _________ the beds after the family went out.  

The class were given a _________ set of challenge questions, 

thankfully they had studied hard and _______ the answers. 

All the countries in the world got together and ________ by 

_______ they formed a __________ treaty that could not be broken. 

The cat knocked the milk over so it would ________ into her bowl, 

which she then dipped her ________ into to taste.  When Mr 

Whatshisname got home there was no milk for his cup of tea 

_______ him. 

The ________ flew in on her broomstick ________ is a very eco-

friendly way of travelling. 

I don’t know __________ to wear my boots or sandals as the 

________ is so changeable.  

I ________ like all of the desks made of __________. 


